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AIER b AR X EGEH =

B3 —2 BEMICERTILBESNOEEICE I HEE1/1) _ _ REEE Ik 25F &
SENMONE | #EmES | 154E1016 | [EliES \ -7 | PRTEHh TR AT
) SERMO TinICHEET S ZERH A
ﬁg TREOBEBOSILHOKRES TERFDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREOHBESEILADKES
5 X 4 B | Timh o DR jmxa;é R 4 TiRALDKE [ FE jmxajé R 4 B | LmAhoDE jmxa;é K 4 HiEhooks | & jmjtéjé
(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%BZ 5 - -~ -|3mEBZD -~ - -| 100kN/m#%#8% % - -~ -|3mEBZD ~ -
s 1.00 | 0.00 ~ 4.69 5846 | FnS | 0.00 ~ 469 | 1.83 9.25 st 1.00 | 6.00 ~ 5.00 58.46 | =n4 | 5.00 ~ 5.00| 1.83 9.25
2 100kN/mM%#BZ 5 -~ -|3mEBZD -~ -| 100kN/m#%#8% % -~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.02 75.44 | FnLS | 000 ~ 602| 1.93 977 st 1.00 | 6.00 ~ 740 75.44 | TNLSY | .00 ~ 7.40)| 1.93 977
3 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.69 84.50 | =hLs | 000 ~ 669 1.79 9.02 st 1.00 | 6.00 ~ 8.10 84.50 | =n4 | 5,00 ~ 810| 1.79 9.02
4 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.95 88.08 | =nLs | 000 ~ 000 1.75 8.86 st 1.00 | 6.00 ~ 8.60 88.08 | =nst | .00 ~ 860 1.75 8.86
5 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 423 5292 | #nS | 000 ~ 423 2.01 10.156 st 1.00 | 6.00 ~ 5.00 52.92 | =hs\ | 5.00 ~ 5.00| 2.01 10.15
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhest ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM#%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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